W B B M
RBIE T - FUFGIGTIE YT - /NP Y L— BT
£1HE 6828 ()
[ FSyomE |
T FlE B3 1 B0 B R BERER
1 BEEH®H 10000m R 1 fH 9:00 8:20 ~ 8:40
2 BHE % 200m R 12 8 54hL—% 9:40 9:00 ~ 9:20
3 HE 5 200m & 24 FH A h/—2 10:10 9:30 ~ 9:50
4 F¥ % 200m R 5 A A4hL -2 11:05 [70:25 ~ 10:45
5 Fx 5 200m R 5 FH F{hL—4 11:15 [ 170:35 ~ 10:55
6 INFAF B 50m 3R 2 FH FAhL—2 11:35 | 7055 ~ 11:15
7 INFAFE & 50m 3R 2 FH FAhL—2 11:40 [ 77:00 ~ 11:20
8 INFESE B 100m R 2 FH ANV =2 11:45 | 77:05 ~ 11:25
9 INFEHE % 100m R 2 FH A4hV =2 11:50 | 77:70 ~ 11:30
10 INFOE B 100m R 2 HH A hV—=% 11:55 | 17:15 ~ 11:35
11 INEOE & 100m & 1 A 12:00 [77:20 ~ 11:40
12 BEBEL 5000mWR 1 #8 12:05 | 77:.25 ~ 11:45
13 INED-64F B 80m H & (0.700m/7.00m) 2 %A H#{hL—% 12:45 | 12:05 ~ 12:25
14 HE 5 800m R 10 FH A4hV—% 12:55 | 12:15 ~ 12:35
15 BE %« 800m R 6 K A4hL—2 13:35 [ 12:556 ~ 13:15
16 Fx 5 800m R 2 FH FAhL—2 14:00 | 73:20 ~ 13:40
17 F¥ & 800m & 6 FH 4LV -2 14:10 [ 73:30 ~ 13:50
18 EE 5 400m H R (0.914m) 5 fH J{hV—A 14:40 [ 174:00 ~ 14:20
19 BE 400m H R (0.762m) 3 KH A{hV—2 15:00 [ 74:.20 ~ 14:40
20 thee B 3000m R 1 1 15:15 | 14.35 ~ 14.55
21 BE 5000m R 1 fH 15:30 | 74:50 ~ 15:10
22 EE 5 5000m R 4 FH BALV—A 15:55 [ 15156 ~ 15:35
23 INZAE BES 4Xx100m R R /\lrﬂ
24 245 BE 4Xx100m R R NEAERS LR L — A : cor g
25| _INFH-6E & _4Xx100m RR AR D E i L — X 17151 16:35 ~ 16:55
26 INEH-6FE BB 4X100m R R NFARRG LR —R
27 BE# 4 4xXx400mRR 3 HH AAbV—A 17:20 [ 16:40 ~ 17:00
28 BE®E 4x400mRR 4 FH ALY 17:40 [ 17:00 ~ 17:20
BT TE 18:00
[ Z14—ILF&BE |
<t B>
D EE BB bA B RS BERRT
1 EE 5 EF B Bk R (A-BEyH 75 4 9:15 8:25 ~ 845
2 g & EF = B &R 23 4 9:30 8:40 ~  9:00
3 INELH-6F B FE 5 OBk R 3 4 3 4 12:30 | 77:40 ~ 12:00
4 BE %« EF ME Bk R (A-BEYH) 63 4 12:30 [ 77:40 ~ 12:00
5 BE %« EF = B &R 27 4 14:00 | 173:70 ~ 13:30
61 INF4L-5-65F F EF B Bk R (A yh) 14 4 15:15 [ 14:25 ~ 14:45
71 INFA-5-65F & EF B Bk R BEYH 13 4 15:15 [ 14:25 ~ 14:45
8 thig B £ E Bk R (A-BE'yh) 27 4 16:30 [ 75.40 ~ 16:00
<ETE>
] _ i B B R bA B R BERER
7 BE %L fia h ¥ R (4.000kg) 19 4 9:30 8:40 ~  9:00
2 EE 5 oY ¥ R (800g) 51 4 9:30 8:40 ~ 9:00
3 h= & fa A ¥ R (2.721kg) 17 4 11:30 [ 70:40 ~ 11:00
4 EES fia h & R (5.000kg) 12 4 13:30 | 72:40 ~ 13:00
51 INFA-5-6%F B v e Yok bz R 13 4 3 4 13:30 | 72:40 ~ 13:00
61 (3-7"Y) dhe B4 YA yhao- R (300g) 4 4 4 4 14:30 | 13:40 ~ 14:00
7 EE 5 fa A ¥ R (1.260kg) 31 4 15:00 [ 74:70 ~ 14:30
8 BE X Y ¥R (6002) 32 4 15:30 | 74:40 ~ 15:00




S
JRIEJE T « 17117 PV 4 T
¥&2HHE 6A3H (H)
[ FSyo8BE |
] i B B b B R BERER
1 EE 5 3000m SC & 2 FH ALAV =2 9:00 8:20 ~ 8:40
2 heApgiE & 100m H (0.762m/8.00m) 1 % 9:30 8:50 ~  9:10
3 e & 100m H & (0.762m/8.00m) 4 #H #4hL-2 9:35 8:56 ~ 9:15
4 BEE X 100m H R (0.838m/8.50m) 3 #H #4hL—% 9:50 9:10 ~  9:30
5 herpgiE 5 110m H (0.914m/9. 14m) 1 {1 10:00 9:20 ~ 9:40
6 h B 110m H & (0.914m/9. 14m) 2 #H #4hL—x 10:05 9.25 ~ 9.45
7 5% 5 110mH R (1.067m/9. 14m) 3 #H #4h—% 10:15 9:35 ~ 9:55
8 BEE T 100m R 17 %0 #AhL-2 10:30 9:50 ~ 10:10
9 BEE 5 100m 33 fH JAhV—% 11:05 [ 70:25 ~ 10:45
10 FEAEES 100m R 5 HH A hL—=% 12:15 | 11:35 ~ 11:55
11 R4 B 100m R 5 FH 4 hL—=% 12:25 | 11:45 ~ 12:05
12 R34 H 100m R 3 FH A bR 12:35 | 171:565 ~ 12:15
13 hE1E K 100m 7 0 B AV—=2 12:45 | 12:05 ~ 12:25
14 24 & 100m £ 6 FH F{AV—2 13:00 [72:20 ~ 12:40
15 h34E & 100m 5 0 B{AV—=2 13:15 [ 12:35 ~ 12:55
16 Pl B 1500m R 1 f1 13:30 | 72:50 ~ 13:10
17 hef B 1500m R 2 #H BANV—% 13:40 | 13:00 ~ 13:20
18 B 1500m & 2 #H BALV—% 13:55 | 13:16 ~ 13:35
19 BE % 400m R 9 FH 4{hL—=% 14:10 | 13:30 ~ 13:50
20 B =5 400m R 14 FH A4bLV—2 14:40 | 74:00 ~ 14:20
21 hz B 400m R 2 HH B hL—=2 15:25 | 14:45 ~ 15.05
22 h==putz 5 400m 1 #H 15:35
23 h=2putE % 200m 2 i 15:40
24 15 3% 4t 1500m & 4 8 BNV —R 15:45 | 15:05 ~ 15:25
25 IH.E B 1500m R 9 FH 4{hL—=% 16:15 | 15:35 ~ 15:55
26 hZ % 4xXx100m R R 1 8 17:20 | 16:40 ~ 17:00
27 b BE 4x100m R R 1 #H 17:25 | 16:45 ~ 17:05
28 BE&Z 4xXx100mRR 4 FH BANV =2 17:30 | 16:50 ~ 17:10
29 BE®E 4x100mRIR 5 A JAhV—A 17:45 | 17:05 ~ 17:25
BT e 18:00
[ 24— FER |
<®k B>
il # H B R BA B R BERSR
1 BEE B EF =5 Bk R 28 44 9:30 8:40 ~  9.:00
2 F¥ & £ 8 Bk R (A-BEyb) 45 4 9:30 8:40 ~  9.00
3 BE B 5 Bk R 6 4 10:00 8:40 ~  9.00
1| (3-7"y) b & B 5 Bk R 3 4 10:00 8:40 ~  9.00
5 hx & B 5 Bk R 12 4 10:00 8:40 ~  9.00
6 hEfpuiE % £ = B 9 4 11:30
7 BE % = B B * 14 4 12:00 [ 77:70 ~ 11:30
8 thepuiE B £ = B T4 13:30
9 BE 5 B 5 Bk R 10 4 14:30 | 73:70 ~ 13:30
10 EE 5 = B Bt 3R (A-BE'YM 29 4 14:30 [ 713:40 ~ 14:00
11 hiE B F 5 B R 13 4 15:00 [ 74:70 ~ 14:30
<{ETE>
] @ § 35 P BB B R BERSR
1| -7y B % A # & R (1.000kg) 1 4 9:30 8:40 ~  9:00
2| (#-7"y) g B A # & R (1.500kg) 1 4 9:30 8:40 ~  9:00
3 BE % A # & R (1.000kg) 23 4 10:30 9:40 ~ 10:00
4 hpuiE B fa A ¥ (4. 000kg) T4 11:30
5 2, B A # % 3R (2.000kg) 30 £ 13:00 [72:70 ~ 12:30
6 g & fa h & (2. 721kg) 9 4 13:30
7 BE % NI—H% R (4.000kg) 14 4 15:00 [ 74:70 ~ 14:30
8 B3 N8 R (. 260kg) 16 44 16:30 | 15:40 ~ 16:00




